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S6E | HISE b SH6E | HISE R SH6E | HHSE iR SH6E | FHSE iR SH6E | HHSE B
EEILELRS 52 54 -2 52 50 2 100.0 92.6 74 45 42 3 3 6 -3
®A 3 4 -1 3 4 -1 100.0 100.0 0.0 4 3 1 0 0 0
TR 3 7 -4 4 6 -2 133.3 85.7 476 6 11 -5 1 5 -4
PN 4 7 -3 4 7 -3 100.0 100.0 0.0 5 5 0 1 0 1
TREMXRE 16 11 5 15 10 5 93.8 90.9 29 14 5 9 0 0 0
BISR- ASEE 5 3 2 6 2 4 120.0 66.7 53.3 4 2 2 0 0 0
TEEDLLED 21 22 -1 20 21 -1 95.2 95.5 -0.3 12 16 -4 1 1 0
EENE BM-RERE BERIFRALBE(1~5A8)
70 120.0
60 - 100.0
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0 SHE Si3E Py SisE 465 e
DA 42 39 59 54 52
A 35 37 55 50 52
L L= IN-] 32 27 46 42 45
. (5%) D E 1 2 3 6 3
A REE 83.3 94.9 93.2 92.6 100.0




EEGRL FAM BH-REKE(FM6F1~58)
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SI6E | FF5E 1R SH6E | F5E 1 SH6E | F5E i SH6E | F5E i SH6E | HHSE R
BEFEINKREH 231 250 -19 122 103 19 52.8 41.2 11.6 42 39 3 0 1 -1
BAGE 211 230 -19 111 93 18 52.6 404 12.2 38 33 5 0 1 -1
55)FERR 90 115 -25 36 55 -19 40.0 478 -7.8 7 13 -6 0 0 0
(56) Dt 121 115 6 75 38 37 62.0 33.0 29.0 31 20 11 0 1 -1
BEBEE 19 14 5 10 8 2 52.6 57.1 -45 3 5 -2 0 0 0
U1Ky 0 3 -3 0 1 -1 - 33.3 -33.3 0 0 0 0 0 0
e 1 3 -2 1 1 0 100.0 33.3 66.7 1 1 0 0 0 0
BEEGERL BH-RERR BE4FRPEB(1~5H)
300 120.0
250 100.0
200 - 80.0 W ERAN{4-3K
150 - 60.0  mmmiREHE
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HH2E HHAE FHSEF FH6EF - RREE
DA 225 238 240 250 231
— R 183 157 119 103 122
. REANE 39 30 39 39 42
 (5%) D E 4 5 3 1 0
—h— FREEER 81.3 66.0 49.6 41.2 52.8




